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. Fill in the E.muwm in mpm following mmamuomm qﬁﬁr the correct ﬁowmm nwooﬂum w.oup

the homophones wuqmu in brackets. - (4x%=2-Marks)
a) Assoonasl Qmwmbgmmu& the Hmomﬁﬁoupmﬁ om:pﬁm. oEU Eu. name, I
wamé\bmév ﬁrmﬁ moupmﬁuﬁm waswrong.

Sermd_&bmf QHcm\Emév mem Bm.._ﬁbm Hﬂ mem moH. aum .._____. @Hmbm_\_
plain) to ﬁme off. - o L L :

. Rewrite the moﬂoéusm in the Ummm:wm .,moﬁb X S R e e (2)

a) An auto driver found a bag in his auto. When he o@mﬁmm H& 5 mwﬁﬂomom

b) The Central Government conferred on him the award of Hﬁdmbwoﬂ om the Mwmmu.
for his new invention.

. Fillin the Emhwm with suitable Eommu ﬁmu&m ﬁxp\n -9 Hﬁmn._mmv

(need, must, od.mwa have to g Emur mvocp@

You wear your identity tags in campus. A.oﬁ e use cell ﬁﬁobmm in
the campus but not in the classroom. You: - on ﬂEm 8 onmm ﬂoc. "
mwﬁm% well and get good grades. _

. Make sentences using any two of the moucém Eﬁ.mm& <m1om _ | EXHIM Marks)
a) take after ~b) bring muooﬁ .. © letdown & point out

Combine the mozoﬁmﬁm sentences using mvwgvﬁmﬁo cause effect muﬂoummmpobm
: . (2%x1=2 Marks)
a) The courtconvicted the godman for Fm crimes. His wouoémﬁ.m protested S&mbﬂ%
by attacking innocent people and setting fire to wmmmm ,

b) There was a storm brewing and wind speeds were very Fmr The mpmrnm that
were scheduled to take off that night were all cancelled.
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6. Make two sentences for any one of the woﬁoﬂmﬁm words using Eme aspoun in one

~and asverb in another to show the difference in usage. _ " (2x1=2 Marks)
“a) block . m_ b) wwomﬁam R | oV oEmon .
7. F E n me E.B&wm using mwwuowﬁmg SSHmnanm %Smﬁm from ng list mudmﬂ below : :
ﬁxp\nlw_ HﬁmH.Wmv

mk.mw Huoémdmw éwﬁ&p meP these

Cﬁmmcmﬁmmmpmwormﬁ mdwmw&gww ﬁos.mum mﬁmﬁﬂmwm E.mm&Euoﬂ_ M _,.
able to decide whether he is a genius or a charlatan —or vog This article describes
some &. the mﬁwmgmbﬁm he mmu..mmm to do at the Stanford Research Institute.

Uri._ . .. did five tests of ﬁ&mwmg% zwgm either bzup.cmwm or &.mﬁﬁmm He was
correct in four out of five tries. He . asked to be given some metal objects.
Dr. Puthofftook out a copperring, a , fork and his silver chain, Uri briefly
touched. Dr. Puthoff put his hand over these objects. Uri placed his hand over
 Dr. Puthoff's hand. After Uri had concentrated for some 30 seconds on the objects,
Dr. Puthoff removed his hand. The copper H.Em Wmm gone from a circle to an egg-

shape. The scientists were all amazed. . —
8. Choose the right ovﬁob which explains ipmw me apoE Amﬂab in UOH& means in
~ the given sentences. - (4x¥%=2 Marks)

- a) After ﬁowwgm non-stop for almost 11 Woﬁ.m onthe Uuoumne the. H.mmmmwowmwm mbbﬁuﬂ
called it a day: :
1) :named the day of the week  ii) H.mm&.mmm it was the next mm%
Ev stopped work for the day iv) continued working till later

b) The army had to be brought in s.wm,m the riots got out of hand.
D gotoutofcontrol | ii) gotaway from the police
Ev got away from the rioters  iv) stopped completely

&.Hrm &@B@mumaﬁmﬂmmm?mmm% Wodoﬁﬁm m.n.oe.m goo .Ho Eme Bmﬁmum Soumm
 there wasa power shutdown. -~ = . A :
i) to make a bad situation better :
ii) to make a good situation better =
iil) to allow a bad situation remain asiti is
- iv) to aggravate a situation that is &Hmmm% dmm

8meoﬂmﬁcbmvmgmmbwrmﬁﬁononagmmﬁmamwmowno m&ﬁmu.m obommnmw _&m _
" Pakistani border force fired at the Indian S.dovm - :
i) went back to the game of chess
i) went back to the starting point with no ?..omnmmm
'iii) wentback one square ,
iv) went on a retreat.

9. Fill in the blanks with right c@ﬂohm to ooEEm&m gm ooﬁonmﬂobm {4x%=2 Marks)

e

"a) The prisoner tried to suicide in the jail.
-1 do i) E&nm iii) commit 7& take
b) She her teacher a visit after returning from abroad.
o i) paid 5 made (iii) gave Civ) &m
- X The fortress _ ~under attack during aum EWE“
o 1) gave - hv came i} went . o H& mﬁoom. .
& I cut-all the vegetables the previous Emg 8 time in the morning.

i) make i1) wsu, i) kill iv) save
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10. Combine the moﬁodﬁbw clauses to form single mmmﬁmbomm . (2x1=2 Marks)
- a) Raja was the owner of the apartment. He had two mmﬁm om Wm%m 8 ﬂWm apartment.
b) Some candidates finished all the questions.in the online exam well ahead of
fime. .Epm% were given mﬁu.m questions ﬁo mbmﬂmu

PART-B - e _ ax;umo Emwwmv |
11. bbmémwvoﬁw G) and (i) S e L ‘
i) Read the following passage and answer Sﬁ @ﬁmmﬁowm m?wb wmu.oé : A@

1) There are two types of diabetes, insulin-dependent and ao;éam&wa.&@ma&mi
‘Between 90 —95% of the estimated 13 — 14 million people in the United States
with diabetes have non-insulin-dependent, or Type II, diabetes. Because this -
form of diabetes usually begins in adults over the age of 40 and i is most common
after the age of 55, it used to be called adult-onset diabetes. Its symptoms
often develop gradually and are hard to identify at first; therefore, nearly half
of all people with diabetes do not know they have it. For instance, someone
wheo has developed Type II diabetes may feel tired or ill without Fp.oéwsm why.

» This can be particularly dangerous because untreated diabetes can cause
damage to the heart, blood vessels, eves, kidneys and nerves. While the causes,
short-term effects and treatments of the two types of &mvm_umm &mmmu both types
can cause the same long-term health problems. |

2)-Most importantly, both types affect the body’s ability to use &mmmﬁmm food for
energy. Diabetes does not interfere with digestion, but it does:prevent the
body from using an important product of digestion, glucose (commonly known
as sugar), for energy. After a meal, the normal digestive system breaks some -
food down into mHsoomm The blood carries the glucose or sugar Eﬁoﬁmﬁoﬁﬂ _
the body,; causing blood glucose levels to rise. In response to this rise, the.
hormone insulin is released into the bloodstream and signals the body tissues
to metabolize or burn the glucose for fuel; which causes blood glucose levels
to return to normal. The glucose ﬂpmﬁ the wo&« &omm boﬁ use Emwa m&m% 18
stored in the liver, muscle or fat.:

3) In both types of diabetes, roémﬁm. aupm ﬁogmu. process B.&mﬁbﬁuobm A

- gland called the pancreas, mocbm just behind the stomach, makesinsulin. In

_ people with insulin- mmwmﬁ@mﬁw diabetes, the pancreas does not produce

Y © insulin at all. This condition usually begins in childhood and is known as

: Type I (formerly called juvenile-onset) diabetes. These patients must have

daily insulin injections to survive, Peoplé with non-insulin-dependent
diabetes usually produce some insulin in their pancreas, but their bodies’ -

tissues do not respond well to the insulin signal and therefore, do not

metabolize the glucose properly, a condition known as insulin resistance.

4) Insulin resistance is an important factor in non-insulin-dependent diabetes
and scientists are searching for the causes of insulin resistance. They have
identified two possibilities. The first is that there could be a defect in the
insulin receptors on cells. Like an appliance that needs to be plugged into
an electrical outlet, insulin, has to bind to a receptor in order to function.
Several things can go wrong with receptors. For example, there may not be
enough receptors to which insulin may bind, or a defect in the receptors may

. prevent insulin from binding. The second possible cause of insulin resistance-

. isthat, althoughinsulin may bind to the receptors, the cells do not read the
. signal to metabolize the glucose. Scientists noEEB»o to study these cells to
see why this might happen.
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5)-There’s no cure for diabetes vet. However, there are ways to alleviate its
symptoms. In 1986, a National Institute of Health panel of experts
recommended that Epm best treatment for non-insulin-dependent diabetes
is a diet that helps one maintain a rniormal weight and pays particular
attention to a proper balance of the different food groups. Many experts,
including those in the American Diabetes Association, recommend that
50 — 60% of daily calories come from carbohydrates, 12 — 20% from protein
and no more than 30% from fat. Foods that are rich in carbohydrates, like
‘breads, cereals, fruits and <mmmﬁmgmm break down into glucose during
digestion causing blood glucose to rise. Additionally, studies have shown.
that cooked foods raise blood glucose higher than raw, unpeeled foods. A
doctor or nutritionist should always be consulted for more of this kind of

EmoH.Bmﬂob and for rmg . EwbEﬂm adiet to om.mmw 35 mm,m cts of this form of
. diabetes. .

‘1) According to drm ﬁmmmmmmu éwmﬁ Em% wm gm Bomw mmbmmeosm aspect of
- . Typell diabetes ? _ -
- a) Insulin shots are needed mmb% mow Qmmnupma of _H_u%o II diabetes el
¢ .. b) Type II diabétes may go undetected and therefore, Cbﬂ.mmﬁmm
¢y In Type Il diabetes, the pancreas does not @Homsnm insulin
d) Type II diabetes interferes with mpmmmﬂob

~ 2) Which of the following are the same for Type I and Hu%o II &m_omdmm ?
‘a) Treatments . - ‘1) long-term health risks
" ¢) Short-termeffects - ~d) Causes -
- 8) A diet dominated by eiﬂow om gw mozosnbm is Hmnoggmummm for non-
* insulin-dependent mumvmﬂom 0
. a) Protein @ Fat _
RN Balanced nutrient Hoﬁmm & Wmﬁ moomm

4) Which of the following is the main function of E&EE ?
a) It signals tissues to metabolize sugar
b) It breaks down food into glucose
¢) It carries glucose gu.oﬂmﬁoca Spm _oom_.%
d) It binds to receptors :

5) Which of the following is Bmwﬂoﬁm@ in apo vmmmmmm asa ﬁomeEo problem L
with insulin receptors in insulin-resistant individuals ?
a) Overating causes the receptors to function improperly
b) There may be an overabundance of receptors present
©) A defect causes the receptors to bind with glucose
d) A defect hinders the receptors from binding with insulin

6) Based on the information in the passage, which of the following vmmﬁ
describes people with Type L diabetes ?
‘a) They do not need to be treated with injections of insulin
b) They comprise the majority of people with %m_omdmm
¢) Their pancreases do not produce insulin
d) They are usually diagnosed as adults

7y Your uncle who has diabetes comes to stay with you mow a week and you
" have to look after him. Prepare a checklist of 4 items that you should
" check with respect to his diet and medication to BmWo sure that his
condition doesn’t become worse. (4)
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ii) Interpret the following chart in about 100 words. Also list your recommendations
to bring about an wuu%u.gmspmg in the situation. (6)

Eo«_a_,m ._.oﬁ d 0 vo__:eﬁm Countries mo._u

.o a.oac. N.oS ,wga a.eS m.%o m..a.cq
L . |

China -

Unlted Statés

Russia

Iadia

Japan
- Germany

Canada "~

United Kingdom

_m
!
;
;

South Korea

fran

‘,

n - H
__qo_._qo:_._ \_ 4

Ly

it

12. a) Read the following @mmmmwo and answer the guestions given below :

Today, bicycles are elegantly simple machines that are common arcund the
world. Many people ride bicycles for recreation, whereas others use them as a
means of transportation, The first bicycle, called a draisienne, was invented in
Germany in 1818 by Baron Kaxr] de Drais de Sauerbrun. Because it was made
.of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved
it by pushing their feet against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better
bicycle. Macmillan’s machine had tires with iron rims to keep them from getting
worn down. He also used foot-operated cranks, similar to pedals, so his bicycle
could be ridden at a quick pace. It dide’t look much like the modern bicycle,
though, because its back wheel was substantially larger than its front wheel.

Although Macmillan’s bicycles ooc,E, be ridden easily, they were never produced
in large numbers.

In 1861, Frenchman Pierre ?Wowwﬁm and his brother Ernest invented a bicycle

with an improved crank mechanism. They called their bicycle a vélocipéde, but
most people called it a “bone shaker” because of the jarring effect of the wood
and iron frame. Despite the unflattering nickname, the vélocipéde was a hit.
After a few years, the Michaux family was making hundreds of the machines
annually, mostly for fun-seeking young people.
Ten years later, James Starley, an English inventor, made several innovations
that H.m<oﬂsﬁob§mm bicycle design. He made the front wheel many times larger
than the back wheel, put a gear on the pedals to make the bicycle more efficient
and lightened the wheels by using wire spokes. Although this bicycle was much
lighter and less tiring to ride, it was still clumsy, extremely top-heavy and ridden
mostly for entertainment.
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Tt wasn’t until 1874 that the first truly modern bicycle appeared on the scene.
Invented by another Englishman, H. J. Lawson, the safety bicycle would look
" familiar to today’s cyclists. The safety bicycle had equal-sized wheels, which
made it much less prone to toppling over. Lawson also attached a chain to the
pedals to drive the rear wheel. By 1893, the safety bicycle had been further
improved with air-filled rubber tires, a diamond-shaped frame and easy braking.
With the improvements provided by Liawson, bicycles became extremely popular
and useful for transportation. Today, they are built, used and enjoyed all over
the world. - e T AL e
1) Write a short summary of the above given passage innot more than 100 words. (6)
2) Complete the following sentences in NO MORE THAN THREE TO
FOUR WORDS. . ... (4%1=4 Marks)
a) The draisienne was as it was made of wood. " 7 :
b) The innovation introduced by Macmillan to make his bicycle more
longlasting than the draisienne was : e
¢ The other name for velocipede was boneshaker because of its

d) The innovation introduced by James Starley that is mﬁE_ﬂ_mmm in today’s
bicycles is o . _
3) Answer the following questions intwo sentences: _ (3%2=6 Marks)
a) Describe the velocipede. : _ | S
b) What are the uses of the bicycle ?

¢) What are the innovations introduced by Lawson in his bicycle design ?
(OR) - _

'b) Readthe following passage and answer the questions given below : _ _
The first step towards the creation of computers as we know them today was
made by an English, Mathematics Professor, Charles Babbage who realized
that all Mathematical calculations can be broken up into simple repetitive
operations that ¢could be carried out by an automatic machine. Sadly, Babbage
never completed the machine. Seventy years later an American inventor,
Herman Hollerith, created a computing machine out of necessity. Hollerith’s
“computer” was the first machine to use electricity. Mathematician George Boole

- determined that all Mathematical calculations can be stated as either true or

false and defined the binary system — to be used by all future computers.

The first electronic computers instead of using electromechanical relays used

fully electronic switches: vacuum tubes. These were about a thousand times

faster than mechanical switches, but they were gigantic. This is the most
- important reason they were replaced by smaller transistors in the 1950s.

As transistors replaced vacuum tubes in the 1950s, computers began to grow
smaller and faster. Early supercomputers replaced binary codes with
programming codes consisting of a few letters and had an operating system and
a2 memory and could store data on disk. Transistors created heat, which tended
to damage the heat-sensitive components. This problem was eliminated by the
invention of the integrated circuit in 1958. Another development of the 1960s
was an operating system with a central program supervising other programs
which could run simultaneously. ,

-

-
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Since computers were no longer so large, they also became cheaper. In the 197 Os,
computer manufacturers were ready to bring computers to consumers. These
computers had user-friendly programs and offered the first word processors,
spreadsheets and even the first computer games !

In 1981, the first IBM PCs were introduced into homes, schools and offices. The

Apple Macintosh was introduced three years later. The number of personal

computers soared from 2.million in 1981 to almost 6 million in 1982, to 65 million

in 1992. As their potential grew, new ways of using computers were being

developed. Computers could be linked together to form networks sharing .

software, memory space and information. The World Wide Web, which was

started in 1989, links up computers worldwide to provide people with

opportunities to share information and to enable communication via e-mail.

Today computers are an inseparable part of many people’s lives and jobs and

are likely to continue to be tools that we relyon.

1) Write a short summary of the above given passage in not more than 100 words. (6)

2) Complete the following sentences in NO MORE THAN THREE TO
FOUR WORDS. - _ - (4x1=4 Marks)
a) Vacuum tubes had the advantage of
b) Transistors had the disadvantage of
¢) The operating system could :- _
d) The world wide web enables peocple to

3) Answerthe moboéi% guestions mﬁ two sentences : (3%x2=6 Marks)
a) How did the invention of the integrated chip help the growth of the
- -computer ? _ :

Qémﬁémwmgw aﬂmmﬁmmgm&wwanmmwmow .oomp@snmwm Hoow.mmwogﬁmmﬁmﬂm_
into the computer ? :

¢) When did the computer become suitable for mass production and use ?

13. Respond the any one of the following advertisements with ajob application and
resume. : {16)
a) Technomentis Edu Services is looking for fresh engineering graduates from all .
disciplines to work as Research Associate Job responsibilities: Assisting the
R and D in developing courses, creating interactive learning materials.
Candidate should adapt to new and emerging technologies and incorporate them
- into the curriculum. Candidate should possess excellent oral communication
and presentation skills, technically sound strong basics in science and
engineering and engaging personality. Interested candidates may send their
applications with resume to the HR Manager, Technomentis Edu. Services, 101,

.gmum_woémw-wkﬁurmOoEEownwm_.w&ﬁ E@Wmﬁ@H.mmﬁmeowwm“Gﬁmuwammmmw
201306. _

(OR) . .
b} Smart Solutions has vacancies for engineering graduates from electrical,
electronic, mechanical, civil and allied disciplines to work on various projects.
‘Candidates should have good communication skills and should work in close
coordination with clients, gauging requirements of clients and delivering

technical solutions as per client specifications. Interested candidates may email
their resume to smartsol21@gmail.com.
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14. Write a report on any one of the following : (16)

a) Your college wishes to improve its performance in sports. For this purpose you,
as student representative have been asked to conduct a survey among students
about their opinions on how to improve students’ participation and performance
in sports and present a report to the Dean. Your survey should include questions
on sports infrastructure, preferred sports, time allocation etc. Prepare a report
with cover letter in about 300 words for this purpose.

. (OR)

"b) Your department has set up a new study centre exclusively for students with a
capacity of 50 people equipped with wifi, computers, photocopiers, scanners and
other facilities. You are the student representative and you have been asked to
prepare a report on the students’ opinion of the facility. Prepare a report with
cover letter in about 300 words to be submitted to the Head of the Department
including details about how the students find ﬁwm mmo;;% mﬁ@ whether any
mm%ﬂowm or changes bmmm to be made.

15. Write m&mwomco on any one of the following : D _ o (16)

- a) You have been called for an internship interview in a Bﬁﬁwmﬂoﬁmy core
company. Write the dialogue that would have happened in the interview between
you and the HR Manager. You have already cleared the written test and you
could be offered the six month internship with a stipend of Rs. 15,000/- if you do
well at the interview. The first two exchanges are given for your reference. You

mﬁoE@WmASESHBSB om mﬁq Eﬁmwmnﬁoum G,m moﬁoﬁo@& vmwéooﬁ %osmppmmw
Manager. o

HR g@@@%mw Why &o %o: S«mw 8 Ewm tﬁ an Snmwsmrsc n :S.m 8:%@:% ?

You : I would like to get some hands on training in the industry which Soi&
reinforce the fundamental concepts.:

HR Manager:...
ﬁowv

~ b) You are the vaoms ction Emﬁmmﬁ. in your ?Qow% You épmr to introduce
_ automation into a manual process followed in the factory. However your General
Manager has doubts about the proposal. Write a dialogue in which you try to
convince your GM to give their approval for automation. The first interaction is
given for your reference. You should have minimum of eight interactions

(16 sentences) between you and your GM.

GM : When our traditional process has been &‘xmnﬁcm so long, why should we go
in for automation ?

You : Sir, the manual process was effective when the coF me of production was
in kilograms. But today the volume has increased to tons.

GM:..




